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Who among the following propounded the ‘f&ﬂplfmgﬂicj Stk

(D) Fifeed

onality 7
(D) Kauti lya

(A) Tulsidas (B) Manu
JE VYT % IT WA Y 7 oy AT B 2 eh (D) frurr aftoE
(A) e HEs (B) e a4 (C) fam
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What is the Uttar Pradesh Upper House known as(? (D) Vidhan Parishad

(A)  Vidhan Mahal (B) Vidhan Sabha (J(C] Vidhan Mand;;m- TR ?

Freferian & #-ar o Faiey 3o (© e 1 6 i

(A) & STV it ¢ et il 6l £ s gat T o Hawy

(B) uﬁﬁﬁﬁfﬁm%ﬁmﬁwmmf{?‘h @;ﬁgﬁ@m & |
T TG et &, = 3 ot fret i ST Y ST AT # |

(©) wmm%ﬁmﬁﬁ%ﬁwﬁ%@ﬁ%ﬁjﬂﬁl

(D) m@m%mmwﬁmm%wﬁ

; : m entanglement ?
Which of the following statement best describes the concept ?‘:q':la“m £
(A) It is the effect of gravitational waves on subatomic particles. o e
(B) It is a phenomenon where particles remain CODI?CCIECI i)uih’éei S il
influences the state of another, regardless of the dlSEElil'lce etwee . ;
It is the theoretical framework explaining ﬂ@bchav:our of particles at speeds approaching the spez
of light. / ;
(D) Itis the process by which particles are heat@o extremely high temperatures.
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In which year was VAT introduced at the State Ie@ m India ?
(A)e 2006 (B) 2001 2 (C) 2005 (D) 2000
frfafas “_ 4 & P-4 91T Wt w et it omfirer 782 o
(A) T| 55 (B) » st 40.
‘i’l("j!‘hﬁffazc following | ®{D) e
fICI mn 5
e g languages is not included in ﬁll_nf Elghth. Schedule of the Indian Constitution ?
(C) Tamil (B) English
_ (D) Sanskrit 41
HIEA ﬁﬁmwagﬁammﬁﬁdﬁa%? '
(A) s s )
(C) T arf st () (B)* fatem sy

Article 340 of the Indian Constirry (")(D) 9 Ear a7ipy
-Onstitut s e
(A) Finance Co sitution deals with i

(C)  Backward Classes (o

mmission
mmission D{ b Commission

o (D) Union Public Service Commission
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Which country

(A) EEpH AT o
(B) o LETT HATETT Dﬂ
(C) TEHATEE i
(D) T FEH 3N G T @

{A) Ministry of Culture

(B) Ministry of Defence

(C) Ministry of Home Affairs

(D) Ministry of Youth Affairs and Sports

T ST Iefied IfH 2 Set Uzl i o 91 STTere Gavi 3 SHeT T GTHHAT AT 92T & |
%;gm Grgs T

involves online harassment where the E:Fr 1s subjected to a plethora of online messages and

(A) TEI¥m (B) 9e=m= &t =t

emails.
(A) Phishing (B) Identity theft

Z(C) Afghanistan
: o muFwEd e ?
oo T TSR T o AT T 0 A T O '

o !
UC) Cyberstalking

eIl % (D) FHifedl
e # s (B) o3 (€) TATEE
kg SFRaE : :

" < the capilal nI'Nﬂgalﬂﬂd? C Guwahati (D) Kohima

what is | s (B) Itanagar (C)

@A) Agrd 9

2 ﬁcopzﬁaamiﬂfaa"ﬁﬂaﬁ” o A (D) 4. (UK)
g (B) T -

(Vs hosted the COP26 Climate Conferenice in 2021 ?

(D) UK

The quarterly newspaper “Cyber Pravah™ is an initiative launched by which Ministry

(D) sieed

(D) Botnets

sHfireafes 1 <ereaan 1 2 3 vt o for 2021 % 6@ Aiere wrifer qoesrr & S fe o o 2

(A) Her et

(C) T THHSTE
Who was awarded the Nobel Peace Prize in 2021 for the efforts
(A) Greta Thunberg
(C) Malala Yousafzai
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(A) Em“ﬁi‘{f TlTe Human Development Index (ﬁfDI) isto:
(B) PR EnVironmental sustainability )

(€)' Tragy ., *verall well-being and quality of life of individual

Ological advancements

C
(D) M h
x {:asur
: “?-E— Phomig performance

VZa4 -

BIB) 37t staTe
(D) o FTfEET 0T 31T Faferft wprera

to protect freedom of expression ?

(B) Abiy Ahmed
O{D] Maria Ressa and Dmitry Muratoy
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(A) ST

g B) T herts
(C) eatrai aer (Fefrarton) Bn o (Uerst)
The yellowness of the Taj Mahal is an effect of (':_."i ) e i
(A) Pollution B

o(B) Allergens

(C) Ozone depletion 4
8 : a O°(D) Acid rain
- R UG deT wEf Reg o L]
Where is the Indian Institute of Petroleum located[:a( ; (D) faeft
(A) Dehradun (B) Amethi w2
i O™(C .
< () Chennai (D) Delhi
w1ee & ufoTig fpar smar d o R T  fore Ak safeier
(C) iR + aftrpr et (Di tie ardier i
Wt term describes the global movement for gcn't?lé’r equality, women’
of discrimination and violence against women ? () Sl i
(A) Femini g
{C)) LC:[;;ISti\dﬂf’emem =9(B) Black Lives Matter Movement
Q + Rights Movement [:J.(D} MeToo Movement
10. s YRdR Se=g Heme % sww A E
9 ol
(A) C'W?tm E;(B}'gffﬁﬁﬂ?fa
(C) ¥R, AR BND) T &R
Who is the au!hlor of the famous Indian novel ‘Gofdn’ ? :
(A) Arundhati Roy (B) Munshi Premchand
(C) RK. Narayan (D) Rabindranath Tagore
(D 2016 % s F A & T aA A A7 o EeT e
(A) &y s (B) +37807 Sl (€ A A1l ;
“ . I e . 1 73 i ton
?13)10 ‘::;i;itthsﬁhl;ll?ance Mm(lst;,r ;::f Inc?a. Cllul'mg ZD_I_‘%?E.TDTJE;N Modi (D) Nirmala Sitharaman
B) Arun Jaitley @
12. SITE %1 9aeis #=r g 9 L]
(A) BEATEE e Sefifas A =
(B) W $mme defifasm qaaufie L
(C) e BT Hfczaymet Fefifem TRAATHE  C
(D) BTz Sare Pefifae THauTHe ©
What does SITE stand for ? :
(A) Satellite Instructional Television Educat®” &
(B) Source Instructional Television E"pe”.mcil {
(C) Satellite Institutional Television Experie’l ard? :
(D) Satellite Instructional Television E"Pe“m} ) gl T o T
7] 2T H& [
19 Wfﬁ = AT g (ﬁ;gﬁrﬁ I Tﬁ%g ¥ G {C '.}_ Erf{,',ﬁ D) Pubai
(A) TIEE N s S e T T
what is the capital of the Federation of Uni o) D oms mvme™ ..
{A)‘_?t_‘f‘f]_af‘__“______f]_af__'?}’}l.f.)_hib-l- ,,f-,;i;,;c'i”*'BJ
vz
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a. g & waes it faft
b, I ST OEH HOE (ACLS) H A |
o TrbmamA i g
4 TS ST 60% 3 | O |
f
g
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“ﬁma‘mﬁquﬁﬁmmwﬁjﬂ?ﬂ@@mm%1\ |
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qﬁq&u%mﬂm,fﬁmﬁ%%mwmaﬁaﬁ i ; e

B.Sc. Afd, ACLS SO, ST H 63% E;iﬁm'ﬂlgi’iﬁ%m‘{f—’@'ﬂﬁat_aﬁﬂﬁﬂ 8 S
WWW:@WW%

- mwéraﬁtanﬁﬁmﬁm%mqﬁﬁﬁw%ggﬁﬁﬁmm% :

(©) ey 21 3 forw Za1 S

—seefieere 3 e Ak g 3 fog fopeT ST 2 B s J
e Intensive Care Urfity The criteria for selection are as follows :

A hospital is recruiting nurses for its
" Bachelor’s degree in Nursing. ]
Certification in Advanced Cardiac Life Support ({,&?LS).
Minimum of 2 years of experience in Critical Ca e i
Score of 60% marks in a compeicucy—basod intervig
If the candidate does not have ACLS certification :
If the candidate does not score minimum marks
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p Nursing Department.
* o Tf the candidate satisfies all other qualifications @ept work experience, the case is to be referred

. the Director of the Centre.

" Based on the scenario, what course of action should be taken for Priya Singh ?

B.Sc. Nursing, ACLS certified, Scored 63% marks in the interview. Experience of 8 years ingluding*

years in Intensive Care Units.

(A) * Candidate is not to be selected

(B) Case is to be referred to the Head of Nursing Dcﬁaatment for further review

(C) Data is inadequate to make a decision O 51
(D) Candidate is to be selected for the nursing positio;g ;

Frforfiaa & 4 st & 198 1S 7 & Gt sifres w8 2

["?}. T - 38 (B) Hfed —awe (Y St — Ay (D) Gy -FH
Which of the following pairs of words are most similatin meaning 2 |
(A) Hot- Cold (B) Hard-E o

ard — Easy (G)™ Quick — Fast (D) HaPPY'sad i

4. 7fe =1 T =i & v o forg 4 oI T g
e 7 SR 3:00 T ( b
imgmﬂﬁm,ﬂﬁ%%sﬁaﬁ%? 5 gl

A) T (B) 1alE 6 7 ) gdiE ﬁ
® - I ic 5E (D) &3 ;
! ;wp :::elilea:es :\lcw York. for London at 3:00 p.m. (local time) and the flight duration.is of 7 ho'®
uld the plane land, if London is 5 hours ahead of New York ?
rk ?

(B) 6 a.m. [C) 5a.m

-
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Find the nexl imaggdn the series
; .

{

0 © O () ‘
ol -

mﬁ}m@,aﬁﬂﬁ?ﬁﬁ@ﬁwﬁ

(B)

s8. U |08 M EE W caf:fw.-ﬁéﬁmﬁﬁ?é?ﬁ%l 175 et <ol

o 7 4
ey gy & e T 8, O & et mﬁmmaﬁm-
(A) 3 i, 40 BETS < B) 2 Tie, 48
(©) 3= aguFTE (D) 2fFe, 44 IS - her train 175 metres o

A train 105 metres long travels at 60 km/hr. How long does it take to cross an
running at 54 km/hr in the same direction 7 ; ;
(A) 3 minutes, 40 seconds (By 2 MINutes, 48 5?3"?0“35
(C) 3 minutes, 48 seconds (D) 2 minutes, 44 seconds . "
s 1 e & O e 3 iU o Gt A S @%|mmwmaﬁnqmmﬁﬁé@m%% sg
sy T 3 i § fire 48 dep affa ok § | @R e o ET 330 o T 2, o1 e SUfth 39 & W
e (Ffaa ) g s an ? 2 :
Two guns are fired from the same place at Ju;md]interval of 9 minutes. A person approaching the place
observes that § minutes 48 seconds have elapsed!between the hearing of the sound of the two guns. It the
velocity of the sound is 330 m/s, at what 5pech¢5{s the person approaching that place (in km/hr) ?
(A) 36 (B) 27 [_‘ @) 33 (D)e.29 _
@ e i 8, 60% T o 99 T T, 30% TfERT % T o 4w @ 3fi 15% TREnl § | Uedih o U U Y
st St 2 £ | i e 960 TRER TEd # | BT 9T o 9T T A e T 2

In a village, 60% of families have.a cow, 30% of families have a butfalo and each of the 15% of families

has both a cow and a buffalo, In all, there are 960 families in thewillage. How many families do |
b : | . 1188
cow or a buffalo ? Y : ﬂq not have g

(A) 280 (B) 240 (C) 260 (D) 200
61, T Staren i sy F e T 6.4 F TAE HE 8 | 98 O e i o frerrar & of fsmr <
- o i & i s ) = B f
ot 3 8, o 37.5% 9 FIAT 8 | A ATEeh! g g4 A, T S g0 B s R T il Blh
*:_ Eﬁn_r;:man pays ¥ 63 Per litre of milk. He thertddds water in the milk and sells the r;1§'xture :
thereby making a 37.5% profit. What is the {proportion of water to milk, in the milk re'::tsg per litrg
4 2 ECeive ?

©

:;:[r:lwl’@ri]'* =0 _ d by the
._ 2l (B 1:10 . (C) 1:29 (D) 1:15
62. ]__*_'.-..-|.|‘J]ﬂLWW{“{'|']Eﬂ?{EﬁT%l| 3
Find the HCF of 135, 171, 192, M
.-s}. B (B 10 |_ 5 (C) 9 '('Ql 3 “q V3
. TEE T O e e P . ; ;
. W 3 ifs firi 310, 550 i 728 B fermfSr F T awE S S= R | =1 %)
d the greateg number which when diviTs 55() ) Aves '
(A2 i C i‘"?'z, en divitled by 310, | 50, :nd 728 leaves the same remainder ———
64. UF 335 v wEl '] v 2 " pas z-u (D) 248 1 t
i ﬁ--q1 4 A rrléj | 8 HHUE H U @ i s & | a1 erel # ol ety vy 3 ...—Q
A 335 H,,L.UL__\.'::W (B) 80 fadfiree (C) 77 Wi : (D) llﬁﬁ‘ﬁrsﬁg;l ‘ )\;) 1
(B) 67 ks '8 tramn crosses a pillar in |8 seconds Find the speed of train in kn/he —_—
e ioeaniss, . (B) 50 Bt (€) 77 km/hr (D) 110K/ S
Ty I iuy,s‘-llt-il_'i-_l_______ “--—_—_h_”'--i-l-.:"-ﬁ-"“-.”_
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i ol
< g o afeemd 10 R # I.OOIﬁEE‘q?rfﬁlﬁ
8. o afecriait o 2 T 2 55 D) 15
e faq (B) 20 (© How many days will 14 men and 20 wop,.
EM ]?r 10 women can build ¥¥a 1 of 100 metres in 10 days: : 0
X IL ! u:huild a wall of 600 metres ? ¢y 25 days (D) 15 days
(A) 30 days (B) 20days ©) A w64 st 1 SR f
o 120 s SRR 6 e o o e 16 Fodt -
“ et s g o 1 5 -
mﬂﬂ%‘lmﬁﬁﬂﬁﬁ T lzﬂ"é (D) 15 He
A) 1698 B) 17 o ; (©) kinE 6 hours a'day, then the number of hours per
‘il 120 persons can finish a work within 16 days bb".‘ﬂ"’i}”{ﬂﬂﬂn 15 days is :
dav that 64 persons should work to finish that same J(C] 12 hours . @ (D) 15 hours

(A) 16 hours (B) 17 hours

% e & forg 960 T 1 e
67. @%@ﬂmmmqﬁmwﬁﬁwm%%ﬁﬁ R ™

= WWW% | it mgﬁmﬁﬂd th.?s?cmt price but ,_fs‘e'i; a false weight of 960 gm for each
A dishonest shopkeeper professes to sell goods a ] ;

kilogram. What is his gain percent ? ; i 1
" St ) li. 4 Lo Ik
B 65% B) 4% EieE @ DY -
oy 1 31 € lsm?ﬁfzo@aﬁr@%ﬁﬂﬁwmmmgﬂ ST FEIT e
A T 16.50/FF= Ft Fra Fred] STl 1 HA0 S 152 *
In what Tatio must the grocéT mix two types of pulses costing T 15/kg and T 20/kg respectively so &
a mixture of pulses costing  16.50/kg ? e ﬁ
(A) 7:5 (B) 5:7 (€773 e ) \
T T TS ST WA S 150% T AT B & 3 40% B 1 2 | IR A 9 T 1,600 2, T
7 RN 2 ‘ iy i} s N
A retailer marks up his goods by 150% and offers a 40% discount. W;l;at will be the selling price if the ¢
price 1s¥ 1,600 7 Er ¢ s
(A) % 2;3:}0_.-" (BY 2,500 (C} f 3,{)0{) _ | (D) £2.400 q \!, %ﬁ-
UF . 5 i s
F F Hso:rﬁaﬁqtmarﬁﬁﬁm%ﬁarﬁé?ﬁ%saﬁﬁﬁ G

20% T T &HHTT 9

By selling an article for ¥ 480, a
a profit of 20% ?

(A) T640 (B) %680 ' e

= il (O z600 | (D)ix 664

T ST o ﬁ"j?pima;ﬂ?hwmﬂﬂ;f 5500 % 14 7 s o e mfers 3 10,000 8 317

The average mon 3 T TR 2 T
7 workers is % 10,000 and El\-'eragee Workers in workshop is Z 8,500. If the average monthly salary

R

i t‘a hould he sell it, so that it makes

man incurs a loss of 10%. At w

r:{:rkzhf A montly salary of the rest is % 7,800, the total number of workers in ¢,
(B) 20 ~ :
2. 7fE 6 FHPTT EY deray © 2 g o e
If the average of 6 Eﬁnsezn?iq::;:? b ﬁmﬁft e Waﬁllﬁm'r]--:} ® ’ 6(‘??
r n i ¥ — .
7 U";":j 194 {B} 1?6 umbem 18 183, ﬁnd the SmallESEﬂumber. .j""/
. faer ™ 2,550 3N S & iy (€) 181 hisd (DLA78

ary FHIT Fififa - %
. bﬁﬁ;ﬂr:ﬂ%:rzmmm%mmﬁﬁﬁ 2 a&%mrﬁ% 4% it 1 R wwgfa T

: ; Ow§ 550 to b 2 ? N
%! 2 years in © Paid back yig, compound interest atithe rate of 4% per annum by the o
- How much will each instalment be ?
(C) T 1,275 (D X135

- e -

- S

FOfo—g2— 103

I
‘‘‘‘‘
-
______
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37.

mntly

aeed

?
%Fﬂﬁaﬁ:am?ﬁd%lsﬂﬂwﬂdg uﬁnww

() <80 A e oy R TR
() zet FThRT @ i ( e BrIS for ?
oy (L SIS B ¥y (D) gt cdocs it stand T
OBRA is a special OPeration unit of the Central Reserve Police Force. alions for ReSOh.’
M_‘} Commando Battle for Recoiling Action (B) Commando B& ' for Rapid Action
\ (<) Central Battalions for Radical Action (D) Central Battalion

24 FAGH

(A) 8T (B) 12wt (©) 207 (D)
On which date is Intemational Literacy Day obgerved ?

5 g : cracy Day o ed ? th Octobﬁl."
(A) gth September (B) 12th January D (©) 20“' Match (D) 24
g Ff et Fdmw A o )
(A)  wafa (B) e TUTE 7 (€) s (D)
Who is the author of the famous work “Tantralgha™ ? di
(A)  Bhavabhuti (B) Banabhatta (C) Abhinavagupta (D) Dandin
IS TH.U. YT Ser Fammee  Sow, S5 5 o i Faf 5 g AT ST
e |

(A) THTRFIAURT (B) CIFFAMTT  (C) FOBHIMERT (D) FOR % STER T
As per the IMF Balance of Payments Manual, the import and export of goods should be presented on

(A) Ex Works basis  (B) CIF basis (C) FOB basis (D) FOR basis

39, fefafEa § o o @=trg) 79 fifao |

40.

42.

‘b 43.

Find the odd one out from the following. C’ \\"\"ﬂ
(A) TVXZ (B) ACEG C_g (C) MNOL (D) HILN .r—?
siareAT H ST S S | e e 25
Find the next number in the series. L_] c’ S
144, 169, 196, 225/ 7 E% 9 e
(af 284 (B) 298 = (© (266 O) o A
ﬁqﬁqﬁ_ﬂ%waﬁtaﬁﬁ 120 34 7@ | % S et ket # w2 T :
ST o & | T 1 AT et H U] e o T B AN o 8 | ot e o F
e iy it P
[n three containers — yn,l[m»,. white and black, 120 marbles are placed. There are Wk ? &zﬁ
the white and yellow containers combined as there are in the black container Ajm-as Many, Mary o
many marbles in the black container as there are in the yellow container. How ; 50, -ﬂ._le're are _les e |
the white container ? many Marb]eg are g Ce a 23 ¢
(A) 60 (B) 30 (C) 40 ®) 20 S i ——
fg Zdi 8 A, BE WA R, C, DT R B. D &1

st -4 %B’D%}m%%”m%mmmwg.am%
Among five friends, A is heavier than B, C is % ter than D, B is Ij .
not the heaviest. Who among them is the hcavi#ﬂ; .’ is lighter than but heavi ier thay m
(A) E (B) B Ei;] (€) ¢ oAl E-Dis
grea! 1 4178 H=il 7 & oy w1 9w ]
(A) Fer (B) T & (C) Wy 3
pick the odd word out from the given list of WUFRI". (D) W
) ]-Ildlil ________ () Dutey %} (C) Colombo D

5% St P (D) Kabul
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47,

48,

g U AT D) iz FE
o - @ I L ? (©) G aculel ;
(A) e (B) foerg 71 '

’ g .
Complete the analogy :

int
Pen - Write :: Knife : ? © Stitch (D) Pa; ki et
(A) Cut (B) Mix ' FF 94 IF geTdl
@Wﬁmﬁ;m%mﬁwgmm%ﬁwﬁ o
%tu%a%agﬁmé\wmwﬁm%,ﬁ___—;—r:: D) IF
(A) ¥ ®) wagFE=E (O e side of that plane

- ot d on on
5 e that is forme
A cone is cut through a plane parallel to 1ts base and thep the con

is moved. The new part that is left over on the other s._i e}ot the plane Is called EE}—ae_.
(A) Cylinder {(B) Frustum of a cone {;:-1::‘ Sphere

. (]

—F i AT e

x oy 379 & o 5

fafefaa § & frrm s 2 fe C, M TSI 2 2 o0

+ means ‘is the brother of ;j}

— means ‘is the sister of
= means ‘is the father of

Which of the following means that C is the son of M ?
(A) MxN-C+F (B) F-CtNXM {@}'-}N'—M—FKC (D) M—-NxC+F

mﬂzﬁaﬁ%{gﬂg%‘i&m%ﬁﬂmmmhm%mm@#mﬁmﬁ
& # 20 ST # | 3R SEEE 8:00 59 '
ST A 120 61z 9T e 33 ae T T e £ miﬁwg}r%wm

(A) ¥I9 8 7 (B) 919 7 &t (J;gmﬁa%
A mountaineer ascends 30 feet at the start of pach
beginning his climb again at the start of
he first reach a flag positioned 120 feet a
(A) Bpm. (B) 7pm.

I =1 1 997 Fife 1 e 7o #me o sfe
Choose the box that is similar to the box 1bnne(£

(D) 19 5 59t

hopﬂthen pauses to rest and sli

; Ses s slides back 20 e,

the next houra,g he starts his climb at 8:00 a.m., at wh f-“t s
bove the ground 7 ’ i will

{CY 6 p.m,
SET & o i g |

from the figure of the sheet of paper given

(D) 5p.m.

T




'

52, T A I T § U R, ek o Wﬁﬁﬂﬁfﬁmhwqﬁm&gtﬁﬁm%ﬂz%
3 | o e o o1 it svee @i 7 o T g
(A) 3 3T 31 4 nvee WSW#‘IZW
(C) 4 3 33 anree (D) 53‘T”A | ST
The cost of a mango is ¥ § each, while a guava costs T 6 each. A Woman spends a tota] of 2ony
fruits. How many mangoes and guavas did she buy ? &
(A) 3 mangoes and 4 guavas B) 5 mﬁﬂgxz :ng% guavas
(C) 4 mangoes and 3 guavas (DINEERE S AN guave
53. 2T i & fohe P € 0
How many triangles are there in the given figur B@
Eﬁ
b
32 |
(A) 26 (B) 29 ® ,9/27 (D) 28 1
s | fae (Site) 1 Fifsw | |
Find the odd one out in the series. ‘
Es, 19, M13, P17, U2 |
) (8) P17 O © uv21 (D) E5 |
o o Pt 3 st 3 oie o A T () |
Find the next figure in the series from the given aﬁons.
; o - |
LD | .
I 1 Al
v -a.jgf
@ K |
(B) ©) (D) |
|
Find the m:rrorT::: e of 'm qﬁmqu{ %l l
a £¢ of given figure, if the mirr&)is'placed at XY |
5© |
D ¢
E |
q
X
3 |

i

_________________________________
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\s

T4, 2 e s A 39 T 10,000 3 forq ST TRT S S SIS 1 HIAC | o
Fmdwmpamdﬂﬂmmtwdcompoundmestfmfmuoo.a:s%WPe:mumlgnm :
(A) 710309309 (B) T10509,7509  (C) T10409,T409 (D) T _

3 safepa 1 97T 1 ST 10 - 6 % it 3735 =09 1 99T 18 ¢ 10 8 1 7 T 15,200 IRT
& A e # 0 Sl 9 |
The ratio of income of two persons is 10 : 6 and that of their expenditures 1s 18 : 10. If they save T :
and ¥ 3,600 respectively, their incomes are :

(A) 79,000, 0 (B) T6,000; 3,600 (C) T10,000; £6,000 (D) ¥16,000: W

76, 129 HTEITOT ST 3 AT 277 10,920 3 Feo( oy v foh i fobed # € 2 et 4
What annual instalment will discharge a debt 0£%10,920 due in 3 years at 12% simple inte )

(A) %3250 (B). 22,7500 # € (©) 3,000 (D) USOOM

RS+ TS, TH Ry s TH IR, TR TR S % TH AT E S, T F arar e
FERS, THIWER, ﬁrﬁn%ﬁgaﬁﬁa%qmaﬁr%ﬁw K# gag ?
If 8 + T means S is the father of T; S — T meanlg.$ is the sister of T; S % T means S is the mothe
S x T means S is the brother of T, which of llowing shows that J is the paternal aunt of K 2
(A) KxM+L%J (B) J— L+Mxﬁ»@ (C) K%M-L-J (D) K+M-L %71
78. @xwwﬁﬁm |
T 2 SRR 2 : k.
(A) frem (B) e (C) _Frem b
Find the missing word. il & i
Apple : Red :: Coal : ?
(A) Blue (B) Yellow G
79. ﬁqmm%wwaﬁf&wﬁ#ﬁﬁm Q
) ﬁw% P
- (A) ST
(C) 3I7mT: Ham o i W

g
; : (D) aﬁ'!! s@ﬁf
Find maeénwaltmmhve oﬁﬂmfbas:wf the i relationship.
¥ ca
®

(C) Black (D)

Falll’ﬁm’?

(A) 4 y (B Faﬂ
| (©) Ijtsohedrence :Punishment (D% Food : Happy
‘ weifere w1s 1 Hifere | :
T, T, Ufva, w, o

A) ImEr .
S fBJHﬁm‘r oo (D) fr

=

e
-

(C) Trees (D) Plants :

————
,,,,,
'"--u-.-_.._ ............................
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i 2001 @ 9= 2002 ?ﬁ?*

|.1[) uF ﬁ,gﬁnﬂﬂﬁmmw@ﬁﬁﬁﬁaﬁﬂil ;

] @ 'm?mmﬂ@m-ﬁmﬁmm'ﬁﬁmﬁmgm‘ﬁﬁmmm :

e & B 2 TR el 3 61 G ¥ | o adenit

The In a school, periodical examinations are held every two o .Dﬂﬂﬂg_ ieca?exam-
" April 2001 to March 2002, a Class IX student appeared in each of these Perio .

below shows the total marks obtained by the student in each periodical exam.
\ R STae T H SN Fe 3 = 500
T_J:[ ® Maximum Total Marks in each periodical exam = 500
> ;1101 __________________ - =

0§ 1 390

37/ Marks
L
=

P 001 SE-2001 3ATG-2001 FEER-2001 fEAT2001 wEA-2002

Apr-2001 Jun-2001 Aug-2001° Oct-2001 = Dec-2001 Feb-2002 e
ST 2001 FHR R 2001 F Tfr e il T ST ST 3 T AT o
What s the pementage‘ﬁﬁh: marks obtained by he student in the periodical exams
October 2001 combined ? ) _
(A) 78.5% (B) 75.5% S(C) 77%

mﬁﬁmmaﬁﬁqaﬁmm@mﬁm| Eﬁl

| = | | e ] g ] R )

1 12600 +20% 10%0 W

2 S U T O [ x

3 12570 | —30% | 12% r—

g : 12200 ~ 10% 20% z
vl (A) 20% (B) 18% 0 8%
Study the table and find the value for R. ®)

Aticles Cost Marked—l — Selling Profit/Loss %
—"——l—-——-—-_lz_r;fc_%__ Price ar Price
e
___;“--—1-2-50? 0 % (B Y T
o L =10% 1 2% zZ

NZza - wde B) 18% (C) 8% (D)
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A A % ST e o
iR A AIEI LM F 31 Tt 37y iy
Ay (0, U qrfaTt A1 & =T AR 3 - I
H LN . —r3) A ¥ 'I'
M, N ‘4 y | 1 % dita ardt 311 I a3l , oaeil ki Bittig
iyl { (), are siting wround a square lable facing outward | £
il Sy R : : . diate right of |
o Myt s the immediate right of O. Who is sitting to the immediate [
N s sitting I 5

B M e e
{ i - = R J i A o
i \‘“ﬁqﬁﬁ'ﬁﬂh( BHIWRID CHfmEsmE CHRHARIA Dagy
gah giETt H, A, B i

y i Al

T

) (C) i o k
family of five members, A is B's sister and [_"_!'.n; B’s mother. D is C’s father and E i1s C°s mother, i
: : I:-|Il::|l|‘;_-‘|:|:';-‘.-Jj (B) Daughter-in-law | | (C) Niece (D) Granddaughte :::-’.
m faskent # 8, 98 7w 91a HIST St fae mo Tﬁ% HAHE | . cf
ma g - S e — 3 L X
\) +HEEH F9 ; i@l ~ (B) TESTEHY : T = T/‘L E
(C) %5 T : FE i ; (D) T F9: HH i
From the given options, find the pair which is/similar to the given pair. i: N
ven pair - Davis Cup : Tennis
i"._'LlL’!lI”I-‘f] Cup : -h]:-KhD (B) Ryder Cup : Golf __.('),‘ B C '
o lames Cup : Car Racing (D). Cue Cup : Snooker X M /
140. 99 9% 719 ifer | 4 2= {20 2 @ N
id the dissimilar term. “ C
\. BFB, CIC, DLD, EOF o
SR (B) cic 1 (©) pLD

(D) _BFB
Eh b YOR T THAT i T ‘44‘ = 15 3 =
(45 TR I OR # CTeTe ST PQ 1 =18 e & 3 doff 35 3 | ST PR h1 S8 3] PO) o7 e &
o TSI R | ARf 55 fid Ay PR oy T DI T s a2 0 )
(A) 14 95 (B) 11 T E

In trianglé PQR, lenatiBilhe o , A) (C) 12 4t (D) 108w
e - .Pr; 11 lU'lg.ll o Jtht:: side OR 1 less thin twice the length of the side PQ by 3 cm Length of the
SHde Py L‘-‘;L’L‘"C{ s the engt 1 U‘f”]c S[dc P h\-‘ Id y o - = e . L.

, cm. The perimeter . ol ST Rt | e
side of 448 . POR s - Q by i-| The Penimeter is 55 em. The length of the smallk

(A) Idem

142. o ffoaq vy i
In a certajy

BY 1 em (C) 12¢m (D)

%@W%raﬁrwﬁﬂ_.n Eak- T

10 ¢m

ARFT3118 % ¥ :
Y forar smomr e 30

£e. CAR is written 44

I
1 ldngua

(A) 62118 (B) 6590( SH18. How will FUR be written in the same language ?
15901 - S
_ (C) 99116 (D) 37912 -
143. 712 6 515 2023 % e AT 6 3 3 2024 5 " R S s é,)
(A) Hham CB) e TS AT R oy 2
(B) -
What was the day of the S i _.Alf:, :f( ) Slm (D) F1fqam
(A) Monday (B) Tuuq;j‘ pril, 2021 llf|ﬁ ' April, 2023 was Thursday ?
e T B, ) 29 (C) Friday (D) Saturday
; l__!,[_lllj;i“' dissimilag number.
2.6, 24, 120, 540,
(A) 6
Ense ot 2 T (B) 12¢ s
. ~’ ©) 24 (D) 540 L vz}
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md

.',_'%

|'2-

A !
(R}

...-—"_F:-.'T 3
PN\

»

e

/

12% ”‘JI ‘ il
0
fafcat 25% L;‘ ‘If'é f

fr\ .,,L%@f*

z > %
P <
Wﬁmﬁﬁﬁmmﬁiﬁ_ﬁwﬁﬁﬂq#%ﬁﬁ&%aﬁﬁﬁaﬁéﬁgﬁmmﬁﬁ%:
(A) %27.860 (B) 26,580 ¥ (C) 724,650 (D) %25,075
] P

The pie chart given here represents the domestig/expenditure of a family in percent. Study the chart and
answer the following question if the total monthlgincome of the family is T 42.500.

Expenditure of Family

Provident Fund
12[!),-:.1 I__- .',

%
o™
Food f ]
o |
Medical 25% IG@
13% -
L
t:};‘.
Child House Rent (5) o
Education 18%
?.3%} _1 i
wl

0,

9

Entertainmen;
o

L

Afier deduction for Child Education and deduction for House Rent, the total monthly income of._

remains ;
(A) T27,860 (B) 26,580 (C) T24.650

P 1 et T e I ;a};elz_]_ of i-_i_ :




=31
B

@

s

i = 0
128. ?ﬁﬁmmmwﬁm;ﬂmﬁmmﬁ%mimwamﬁﬁn WWW:TFW
(A) e e ) 18 & T T ( #mﬁmqﬁ
(C) s g0 RIS &1 SRS 7 e o (D) *RS
R 2
129, Wit & S FEA § ohge 7w AR ?
& o . . {B}J W ﬂﬁ_ﬁ
(C) el 1 HATFNF 37 it
130, 237 72 ST 1 w7 37 & - o
(A) TSI & (B) @ .
(C) , BTETHI 0 ST iH (D) T '
]31 ‘Waﬁ‘m:ﬂﬁ% l.;—.:: 1 Fﬁﬁ (DJ. ’11/' :
(A) TRl (B) deH ExC| (C) RIER] 5 Ic \{b t‘:
132. e sweune He W vE 2 s B fq
(A) VEWHAEE  (B) FHATAG (O FAT (D)5 >
133, s o sivey e w1 3 Atk de & e e A e 8, S 60% alt 45 fore & ot i 3l 55 e
9 AT B, T e % ey o e ot 80 ey :
Wrasofefiafaser  (B) a9 fediafamer o (@) 47 FRliwfiEer (D) 48 foRt i ERT
What is the average speed of a man who travels between two cities, covering 60% of the distance in
45 minutes and the remaining distance in '\5 mmutts where the total distance between the cities is
80km ? :
(A) 50 kmph (B) 49 kmph "".5 (C) 47 kmph (D) 48 kmph
134, fora ot o o i g 10w 3 19 wfeng 7 ain ;mm%‘ FeehT fore 61w o 7.45 =t oy ot gt
(A) SELglEm (B afeor (©) rf; e |
A elock with the hour hand pomting West at 3 pim. will have its minute hand al.- 7:4 s ~1,-2
- . b 3 5 . .
towards : P.m. pointing
w g @ g (€)] East (D) North-East
135. wﬁwﬁﬁqﬁ?ﬂwaﬁwm%ﬁmﬁﬁqwﬁzﬂmmﬁmﬁw_wﬁl.
ez - (49, 75 %) ("
Find the set of ; : e j
& 5t of numberg amongst the four options. that is most like the set given in the question
Set given ; (49, 25, 9) B .
(A) (64,27, b o
i B) (39.2 -
136. AiEi-‘:l—T[qf:rﬂ-q‘;,HhU B 692613 | (e (36, o) (D) (36, 25, 13}
L& e, wmﬁmmwﬁ &Eqﬁél”ﬁxﬁwmﬁ@ﬁ Ai’fﬁﬂ#m
(&) =90t (g, (B : T
A introduce g Sayi ) g (C L | (D) grar
Ng
as a male Person, h;;L ‘He is the husband of the granddaughter of the father of my father.”
\____‘_}_g” Cousip 15 B related to A7 . k
V.Z24 T R (B) Hmthr P

SR (C) Brother-in-law
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91.

FHESE? e i ‘{?rf
A) gf&rr (B) KL ©) .}'

{

g7, Fafafld sj@mﬁgwrtramﬁ#ﬁ’lqi
Find the missing term in the following series.
o9 361,289,169, .49

"B w s B) 9] Q © 125 ® 121
No T o T e Fife 7R FEffes v &
' /\ s sirof T #
10 25 ]
20/17 {15\ 30 | 40 O & safrahda
7\ 20 L]
A [ ] sroframdis
o s A g0 @)
(A) 10 (B) 17 (C) (D) 7
Examine the given diagram and respond to the following question.
25 A —> Persons who drink tea

2{]/1?]?15\

30 ) 40

O C)-> Persons who drink coffee
&
Persons who drink juice

10w many individuals drink all three ? i o8

& (B) 17 -2 (€)15 D) 7
] ﬁn%%amﬁ,mﬁqu%ww
W%wmﬁmmm Y= R

—

feean o 12 - “GENTLEMAN® -t

i g o v e 0 @S ¥ S ST 27 ST 45 %ﬁﬁﬁﬁ,ﬁmmmﬁsﬁﬁm ‘
af2 39 IS : .

|

initially facing North-East and turn 45 degrees to your right, what direction are you facin, oy
" youn are

“\: t 1'snmh (B) West (C) North (D) East

(A) 3 :

TS Pt 3w & w9 4 o A

1
In the followmg question, you will find four other words provided as alternatives alongside a give? "
Q_ne of these words cannot be formed using the letters of the given word. Identify that word. '
Given word : “GENTLEMAN?® ]
(A) GENERAL (B) ANGLE () (© GLEAM it
9. T T e o 4
gi!l in the blank. 2
6, 60 |
Ay 19 —10 ) g
B) 20 o3 (C) 25 e |
[;;] 15
(B) arfer &% (C) e S |
g 2 @ 'HFE‘T j‘:’}!
_________ B 5y (©) fam e
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rrrfafiae 1 @ -4 I8y 7T T B

116. a3 a (B) Fol (C) gl fD] AT
L et i & W e Y1e T H : |
17 o (B) @ (C) &t (D) @
118. *3ﬂdﬁﬂﬁﬂmamﬁ‘mW’ﬂﬂmmW%q
(A) T JE TG IR | (B) STcTeh aga A AU TBE |
(C) ST @HT ST R | (D)o G I A 3T 2 |
119. 'WWW%@ﬁ,mmﬁwWW|‘ﬁﬁ%ﬁ§ﬁﬁ%ﬂ%¢l~msﬁaﬁaﬁma%
viee F faam 7et 2 7 ('{;
(A) fmio (B) formdor & () (D), SR
120. ‘Feivar F EO-Ae e 2 ma
(A) ¥+ $wa (B) et + dvaw [ (©) =iF+7 (D) et + Fva
oy
121. FFE I ARSI S R ? %
(A) FATAHTAY | (B) * & THERT 979G TET % |
(C) =T foselt i 337 | (D) 399 % @1 T o |

122, [ <A FEG A 2
(A) FE-SYUHHAT (B) GEI"T - it
o C@%‘Fﬂ : +, (D) TIMHE AT

@) TR @) - B (C) TR (D) TR T
4. 39 g 1 ST g B S Lﬁ

(A) Ha! 373 G AR % (B) T Far e o T E e

(C) (21 2T %1 9% 302t b of =i g L&% (D) 31 e gaeh! e & i

(A) (B) w T (©) T (D) T
R

(A) FAET (B) 37 fraar (©) , 3ea v (D) R et

127. ﬁm%ﬁgaﬁﬂaﬂ?-m‘m’mm%?
@) wf ®) Fm 0(C) (D) %

.. 1289 132 mrertvr vy ¢

_‘ﬁ-iﬂiﬁwwmhqﬁﬁwﬁ : 4 . o
Ty v at PRFT WTeT ST @ i el & SATaT @ | e A
Eﬁ-ﬂ‘?‘ wﬁﬁwﬁ mﬁ |E':|'{q;ﬁﬁ'[%|qﬁ m%ﬁmmm‘waﬁﬂm{rﬂ%{%?
Sk ot 8 | 3 e””:"mwﬁﬂﬂwawﬁ%ﬁwﬁgﬁwﬁﬁ?ﬁ
Wiz &)
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o 2 7 ek e g 8 ﬁmmt.nzaﬁgﬁéaﬁtw st
q 2 i : ' TEAT | FHE O % fAwe B i
Wma:m W\ﬁﬁmﬁﬁvlrs ot 2 | Wﬁmmmgﬁmﬂﬂwmﬁﬁﬁ
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o £ et 2 :
B e Yo

ser BT =

aft 420 %7 30% 2400 %1 35% = 4200 1 x% & Y « ﬂﬂmmﬂﬁﬁ’ﬁ:&m]

P 400G s s 5
petermine the value of x if: 30% of 4200 + 355, 04 2400 = x% of 4200, find the value of X. $ =

(A) 50 B 29 (C) 48

146.

mnm%m%wéﬁuﬁﬂrmﬂ’aé

1 o (J
(A) 724 (B) 68.4 b (C) 5820 (D)e78.2°

Examine the given pie chart regarding producti%nf steel by five states and answer the following questis
SLIOT,

& State

Stateii;i]
cnoae
State(€) ke {'
2% State D %"l.,
Statel,-E-:.]
‘«:hat is th:.: central angle that corresponds to thglf:ﬁ_l-;'oduction of steel by State D ?
N ziﬁ: sz}i; t (B) 68.4° *jﬂ (@) 53.20' (D) 78.2°
%%m ! qOQPMGA 31 ZEBRA %I BGDTC ¥ &9 # wifeq faar siwr 2, 4 DEER # e 77
SITET o

IFMONKEY is coded as OQPMGA and ZEBR?:;FS BGDTC, then how will DEER be coded ?
(A) BGGT (B) OQGT @ (C) GFFT (D) FGGT »#

| 149, ﬁmmamaﬁaﬁsowmamfaq;ﬁ-ﬁaqaera‘rrfaﬂuawﬁaﬁrmaww
' 10 Fry T | i 7 o 30 e, 28 20 o o)t v Y | ey e @ o fen e £
(A) 9 (B) afear © I

From my hf}us;c:, I walked 30 km to the North. Then I turned West and covered 20 km and then ¢
10 km turning South, Finally turning to the East, I covered 20 km. In which direction am I standing

Qv gred

frof

my house ?

(A) Wt g vy (B) South (C) East (D) North
150, e ]7(__?,_9)801 W@%f

Complet#he series 2, 12, 36, 80, . 1
_____ (A) 120 (B) 140 (©) 130 (D) 150 e
Y e - LT S Nl G RO e S i IS R
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